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QUESTION 1
Scenario: Rollins Manufacturing
Please read this scenario prior to answering the question

Rollins Manufacturing is a major supplier in the automotive industry, headquartered in Cleveland, Ohio with
manufacturing plants in Chicago, Sao Paulo, Stuttgart, Yokohama, and Seoul. Each of these plants has been operating
its own Manufacturing Requirements Planning (MRPII) system, production scheduling, and custom developed
applications that drive the automated production equipment at each plant.

Rollins is implementing lean manufacturing principles to minimize waste and improve the efficiency of all of its
production operations. During a recent exercise held for internal quality improvement, it was determined that a
significant reduction in process waste could be achieved by replacing the current MRPII and scheduling systems with a
common Enterprise Resource Planning (ERP) system located in the Cleveland data center. This central system would
provide support to each of the plants replacing the functionality in the existing systems. It would also eliminate the need
for full data centers at each of the plant facilities. A reduced number of IT staff could support the remaining applications.
In some cases, a third- party contractor could provide those staff.

The Rollins Enterprise Architecture department has been operating for several years and has mature, well-developed
architecture governance and development processes that are strongly based on TOGAF 9.At a recent meeting, the
Architecture Review Board approved a Request for Architecture Work from the Chief Engineer of Global Manufacturing
Operations who is the project sponsor. The request covered the initial architectural investigations and the development
of a comprehensive architecture to plan the transformation.

The Common ERP Deployment architecture project team has now been formed, and the project team has been asked
to develop an Architecture Vision that will achieve the desired outcomes and benefits. Some of the plant managers have
expressed concern about the security and reliability of driving their MRPII and production scheduling from a central
system located in Cleveland. The Chief Engineer wants to know how these concerns can be addressed.

Refer to the Rollins Manufacturing Scenario:

You are serving as the Lead Enterprise Architect for the Common ERP Deployment architecture project.

One of the earliest initiatives in the Enterprise Architecture program at Rollins was the definition of a set of IT principles
and architecture principles that are well aligned with the overall enterprise principles. These now need to be updated to
address the concerns raised. You have been asked to select a set of principles most appropriate for guiding the team to

define a robust solution.

[Note: You should assume that Rollins has adopted the example set of principles that are listed and defined in TOGAF
9, Section 23.6.]

Based on TOGAF 9, which of the following is the best answer?

A. Common-use Applications, Data is Shared, Data is Accessible, Data is Secure, Interoperability, Control Technical
Diversity.

B. Business Continuity, Service-orientation, Data is Accessible, Data is Secure, Responsive Change Management.

C. Maximize Benefit to the Enterprise, Business Continuity, Common-use Applications, Data is Shared, Data is
Accessible, Data is Secure.

D. Information Management is Everybody\\'s Business, IT Responsibility, Data Trustee, Technology Independence,
Responsive Change Management.
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Correct Answer: C

QUESTION 2

Scenario: AutoComp Corporation AutoComp Corporation produces components for the Car industry. Driven by the
global financial downturn they are looking to reduce IT costs. They believe there is a cost saving opportunity within IT
but this is not quantified in terms of potential savings nor is there agreed target architecture.

Final decisions on the solutions are not yet fully agreed. They have completed their Vision Phase and first pass of the
three architecture definition phases and now they want to finalize and plan their solutions. You are the Chief Architect
from a consulting organization brought into review the work to date by AutoComp Corporation and to make
recommendations to the CIO and the board on this.

Which of the following answers best describes how TOGAF recommends in this context?

A. | would determine the business value of each solution, prioritize accordingly each set of solutions, conduct detailed
Risk Assessment and Mitigation, do Compliance reviews and then implement the solutions. | would present my
recommendations to the board for agreement. Once this is done, | would update the architectures reflecting any
changes resulting from the board discussion.

B. I would after confirming Enterprise Change Attributes and constraints, do a Consolidated Gap Analysis then
dependencies, then group and allocate the transitions. | would also assess Enterprise readiness and risks. Then | would
also assess the business value of the solutions, do risk analysis with mitigation and then schedule the work products.

C. I would do a Consolidated Gap Analysis by considering then dependencies, then group and allocate the transitions. |
would then look to produce artifacts that describe the recommended projects, the risk, issues and dependencies. This
would also include transition architects to move us from current architecture to the recommended target architectures. |
would present my recommendations to the board for agreement. Once this is done, | would update the architectures
reflecting any changes resulting from the board discussion.

D. I would look at the corporate culture and attitude to change, understand the constraints such as cost and the required
time horizons. | would then look at the architecture work to ensure it is complete and seek to address any gaps. | would
review the functional requirements and ensure there are complete interoperability requirements. | would then validate
any dependencies and risks. Then formulate an implementation and migration strategy identifies major work packages
and the transition architecture required. Finally, once agreement is reached with the board | will create project charters
and re-factor any changes needed from the board discussion into the architecture.

Correct Answer: D

QUESTION 3

MightyGears produces components for the Car industry. Driven by the global financial downturn they are looking to
reduce IT costs. They believe there is a cost saving opportunity within IT but this is not quantified in terms of potential
savings nor is there an agreed target architecture. Final decisions on the solutions are not yet fully agreed. They have
completed the first pass architecture and now are looking at the best opportunities and solutions to meet their financial
goals.

You are the Chief Architect from a consulting organization brought into review the work to date by MightyGears and to
make recommendations to the CIO and the board on the opportunities and solutions present.

Refer to the scenario above

Which of the following answers best describes how TOGAF recommends examining the opportunities and solutions
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before presenting to the board?
Choose one of the following answers

A. | would examine the architecture work today ensuring it is complete and accurate and addressing any gaps. | would
look at functional and integration requirements. | would then ensure all dependencies are understood and documented. |
would then create the necessary artefacts including major work packages and transition architectures and the project
charters for the recommended projects for presentation to the board.

B. | would assess the architecture work today, create, and priorities projects to transition Widget Inc from the current
architecture to target architecture. This will include a business value for each project, the resources required and the
intended timing. | would then validate the prioritizations with the board particularly looking at cost benefits and risks.
Lastly, | would generate the Architecture Implementation Roadmap and document lessons learned.

C. I would assess the requirements of the organization particularly those requirements describing the functions required
and information flows within the architecture. | would then look to produce artifacts that describe the recommended
projects, the risk, issues and dependencies. This would also include transition architects to move us from current
architecture to the recommended target architectures. | would present my recommendations to the board for agreement.
Once this is done, | would update the architectures reflecting any changes resulting from the board discussion.

D. I would look at the corporate culture and attitude to change, understand the constraints such as cost and the required
time horizons. | would then look at the architecture work to ensure it is complete and seek to address any gaps. | would
review the functional requirements and ensure there are complete interoperability requirements. | would then validate
any dependencies and risks. Then formulate an implementation and migration strategy identifies major work packages
and the transition architecture required. Finally, once agreement is reached with the board | will create project charters
and re-factor any changes needed from the board discussion into the architecture.

Correct Answer: A

QUESTION 4

Scenario Please read this scenario prior to answering the question You have been assigned the role of Chief Enterprise
Architect within a leading outsourcing services company. The company has over 15,000 outsourcing professionals and
works on some of the world\\'s largest outsourcing projects. Outsourcing services include business processes,
infrastructure, and service management. The company also provides business consulting services. Roughly half of its
turnover comes from the private sector and half from the public sector.

With numerous service areas and a large number of diverse engagements in progress at any given time, overall
engagement management within the company has become challenging. The company has recently had a number of
high profile projects that have overrun on budget and under delivered, thereby damaging its reputation. The company
has an established an Enterprise Architecture program based on TOGAF 9, sponsored jointly by the Chief Executive
Officer and Chief Information Officer. An Architecture Board has been formed comprised of IT staff executives and
executives from the major service areas and consulting practice.

The Enterprise Architecture (EA) team has been working with the Strategic Planning team to create a strategic
enterprise architecture to address these issues. The EA team has defined a framework and held workshops with key
stakeholders to define a set of architecture principles to govern the architecture work. They have completed an
Architecture Vision at a strategic level and laid out Architecture Definitions for the

four domains. They have set out an ambitious vision of the future of the company over a five-year period.

This will include three distinct transformations.

The CIO has made it clear that prior to the approval of the detailed implementation and Migration plan, the
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EA team will need to assess the risks associated with the proposed architecture. He has received
concerns from some of the vice presidents across the company that the proposed architecture may be too
ambitious and they are not sure it can produce sufficient value to warrant the attendant risks.

Refer to the Scenario

You have been asked to recommend an approach to satisfy these concerns.

Based on TOGAF, which of the following is the best answer?

A. The EA team should apply an interoperability analysis to evaluate any potential issues across the architecture. This
should include the development of a matrix showing the interoperability requirements. Once all of the concerns have
been resolved, the EA team should finalize the Architecture Roadmap and the Implementation and Migration Plan.

B. The EA team should bring together information about potential solutions from the appropriate sources. Once the
target architecture has been assembled, it should be analyzed using a state evolution table to determine the Transition
Architectures. A value realization process should then be established to ensure that the concerns raised are addressed.

C. The EA team should evaluate the organization\\'s readiness to undergo change. This will allow the risks associated
with the transformations to be identified and mitigated for. It will also identify improvement actions to be worked into the
Implementation and Migration Plan. The Business Value Assessment technique should then be used to determine the
business value and associated risks for the transformation.

D. Before preparing the detailed Implementation and Migration plan, the EA team should review and consolidate the gap
analysis results from Phases B to D. This can be used to understand the transformations that are required to achieve
the proposed Target Architecture. The EA team should then assess the readiness of the organization to undergo
change. Once the architecture has been assembled, it should be analyzed using a state evolution table to determine the
Transition Architectures.

Correct Answer: C

QUESTION 5

Scenario: AGEX Inc.

Please read this scenario prior to answering the question

AGEX is a large, global commodities trading company which has been growing rapidly through a series of
acquisitions.

Each new business is performing well in its markets. However, the lack of integration between headquarters and the
business units has increasingly caused problems in the handling of customer and financial information. The inability to
share information across businesses has resulted in lost opportunities to "leverage the synergies” that had been
intended when the businesses were acquired. At present, each business unit maintains its own applications. Despite an
earlier initiative to install a common application to manage customer, products, supplier, and inventory information, each
business unit has different ways of defining each of these core elements and has customized the common application to
the point where the ability to exchange information is difficult, costly, and error-prone.

As a result, AGEX has begun implementing a single Enterprise Resource Planning (ERP) system to consolidate
information from several applications that exist across the lines of business. The Corporate Board is concerned that the
new ERP system must be able to manage and safeguard customer information in a manner that meets or exceeds the
legal requirements of the countries in which the company operates. This will be an increasingly important capability as
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the company expands its online services offered to clients and trading partners.

The CIO has formed an Enterprise Architecture department, and one of the primary goals in its charter is to coordinate
efforts between the ERP implementation team and the business unit personnel who will be involved in the migration
process. The CIO has also formed a cross-functional Architecture Review Board to oversee and govern the
architecture.

After reviewing the available alternatives, and based on recommendations from the ERP vendor, AGEX has selected
TOGAF 9 as the basis for its Enterprise Architecture program.

The CIO has endorsed this choice with the full support of top management.
Refer to the AGEX Inc. Scenario
You are serving as the Chief Architect.

You have been asked to recommend the approach to take in the Preliminary Phase to ensure that the Corporate
Board\\'s concern is addressed.

Based on TOGAF 9, which of the following is the best answer?

A. You evaluate the implications of the Board\\'s concern in terms of regulatory and security policy requirements. You
then update the AGEX security policy to reflect the concern, ensuring that this policy is communicated across the
organization. You allocate a security architecture team to ensure that security considerations are included in ongoing
architecture planning. You then assess the security implications and agreements within the AGEX businesses and their
suppliers.

B. You evaluate the implications of the Board\\'s concern in terms of regulatory requirements and their impact on
business goals and objectives. Based on this understanding, you then issue a Request for Architecture Work to
commence an architecture development project to develop a solution that will address the Board\\'s concern. You
allocate a security architect to oversee the implementation of the solution in the ERP system that is being developed.

C. You start by clarifying the intent that the Board has for raising this concern. This enables you to understand the
implications of the concern in terms of regulatory requirements and the potential impact on current business goals and
objectives. You propose that a security architect or security architecture team be allocated to develop comprehensive
security architecture.

D. You evaluate the implications of the Board\\'s concern by examining the potential impacts on business goals and
objectives. Based on your understanding, you then update the current AGEX security policy to include an emphasis on
the Board\\'s concern. In addition, you allocate a security architect to ensure that security considerations are included in
the architecture planning for all domains.

Correct Answer: A
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